HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=

Sro2_x,1M)=B3iXFo2_x,1M)+B3yroz_x,10)

+BsgZroz_x,10)

2 ng 0,000 0,000 0,5168A=440

D65:35 Fop x1(N)=12,19
XFo2 x_’120,3133
Yro2_x,1=0,3305
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WellenlangeA /nm
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=
Sro2_x,1M)=B31XFo2_x,1A)*B3aYFoz_x,1(A)

2,0 Byj

100 --~--

400

+BgaZro2_x,1(A)
0,000 0,000 0,5168A=440
D50:35 Fop x.1(M)=9,11
XFo2 x_’120,3483
Yro2_x,1=0,3607

500 600 700
WellenlangeA /nm

BG440-3A 1




HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=
Sro2_x,1M)=B31XFo2_x,1A)*B3aYFoz_x,1(A)

2,0 Byj

100 --~--

400

+BsgZroz_x,10)
0,000 0,000 0,5168A=440
P40:35 g x (N)=7.35
XFo2 x_’120,383l
Yro2_x,1=0,3775

500 600 700
WellenlangeA /nm
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=
Sro2_x,1M)=B31XFo2_x,1A)*B3aYFoz_x,1(A)

2,0 Byj

100 --~--

400

+BsgZroz_x,10)
0,000 0,000 0,5168A=440
A00:35 £gp x 1(N)=4,12
XFo2 x_’120,4526
Yro2_x,1=0,4086

500 600 700
WellenlangeA /nm

BG440-3A 1




HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=

Sro2_x,1M)=B3iXFo2_x,1M)+B3yroz_x,10)

+BsgZroz_x,10)

2 ng 0,000 0,000 0,5168A=440

E00:35pop x (N)=11,71
XFo2 x_’120,333l
Yro2_x,1=0,3330

400 500 600 700
WellenlangeA /nm
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HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=

Sro2_x,1M)=B3iXFo2_x,1M)+B3yroz_x,10)

+BsgZroz_x,10)

2 ng 0,000 0,000 0,5168A=440

CO0:35 g x,1(N)=12,86
XFo2 x_’1:O,3101
Yro2_x,1=0,3185

400 500 600 700
WellenlangeA /nm

BG440-3A 1




HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=
Sro2_x,1M)=B31XFo2_x,1A)*B3aYFoz_x,1(A)

2,0 Byj

100 --~--

400

+BgaZro2_x,1(A)
0,000 0,000 0,5168A=440
P00:35 Fgp x 1(A)=9,49
XFo2 x_’120,3616
Yro2_x,1=0,3533

500 600 700
WellenlangeA /nm

BG440-3A 1




HPE_CIEF02_X-Zapfen-Empfindlichkeit y,44(A)=

Sro2_x,1M)=B3iXFo2_x,1M)+B3yroz_x,10)

+BsgZroz_x,10)

2 ng 0,000 0,000 0,5168A=440

QOO pgp . 1(N)=14,49
XFo2 x_’120,3054
Yro2_x,1=0,3099

400 500 600 700
WellenlangeA /nm

BG440-3A 1




